Fin 221: Sample MCQ – chapter 1
1. A surplus spending unit is one who(se):

(a) income and expenditures for the period are equal.

(b) income for the period exceeds consumption and real investment expenditure.

(c) expenditure for the period exceeds receipts.

(d) uses credit cards for all consumer purchase.

2. A dealer offers to buy shares of IBM at $125 and sell to investors at $127. The bid price is:

(a) $ 125

(b) $127

(c) $2

(d) none of the above.

3. Which of the following is not a characteristic of financial claims?

(a) their value appears on two balance sheets.

(b) they are intangible assets.

(c) they are IOU’s traded for funds.

(d) they represent ownership of real assets.

4. All except one is associated with direct financing:

(a) one financial claim contract.

(b) a broker, dealer or investment banker.

(c) small denomination financial claims.

(d) government and business borrowers dominate.

5. Simon’s Securities is underwriting an issue of Bean Public Gas Company common stock. Simon’s will pay bean Gas $45.00 per share and offer the stock to the public at $48.00. The cost of underwriting the issue is $1.00 per share. The underwriting spread is:

(a) $4.00 per share.

(b) $3.00 per share.

(c) $2.00 per share.

(d) cannot be calculated from the information above.

6. Credit unions are classified as ______________ institutions, while pension funds are classified as _______________ financial institutions:

(a) deposit-type, contractual savings

(b) contractual savings; deposit-type

(c) federal agency; contractual savings

(d) deposit-type; mutual fund

7. The risk of financial institutions associated with varying returns caused by fluctuating yields and corresponding costs of funds is called:

(a) credit risk

(b) liquidity risk

(c) foreign exchange risk

(d) interest rate risk

8. A capital market financing is most likely to finance:

(a) new plant and equipment.

(b) seasonal inventory needs.

(c) a quarterly dividend payment.

(d) the sale of common stock.

9. While the initial financing of the DSUs is in the primary market, subsequent sale of the financial claims is in the:

(a) intermediation market.

(b) direct financial market.

(c) forward market.

(d) secondary market.

10. Large industrial corporations are involved in the money market by:

(a) investing excess cash balances.

(b) buying and selling goods on credit in international trade.

(c) issuing commercial papers.

(d) all of the above.

11. The money market is an important financial market because:

(a) the money market is the world’s liquidity market.

(b) it is the market in which the central bank conducts monetary policy.

(c) the government finances most of its credit needs in the money market.

(d) all of the above.

12. A conditional contract providing the holder with the ability to buy assets in the future is called a:

(a) put.

(b) forward contract.

(c) futures contract.

(d) call.

13. Financial intermediation is best described as

(a) the flow of savings of lenders to borrowers in return for the IOU of the borrower.

(b) the flow of borrowed funds directly to deficit spending units.

(c) the purchase of indirect financial claims of financial intermediaries and the subsequent purchase of direct financial claims, held as liabilities of financial intermediaries.

(d)  the purchase of direct financial claims with funds raised by issuing separate indirect financial claims to savers.
Answers:
1. (b)
2. (a) 
3. (d) 
4. (c) 
5. (b) 
6. (a) 
7. (d) 
8. (a) 
9. (d) 
10. (d) 


11. (d) 
12. (d) 13 (d) 


